Y245 E NHREERIAR
Dilz il LENERS [IEEIENESS 1B 8 £ ] 1B 8 B
122211 TRER INTART SHEHOKEEERE | of 0 2P - HSRFATEL i T 7
R TKES
IREHK X S EE o 0 FTEEmE (RATsE38. ) o 15,192
FREASESHAD (H2533157%) 192,951 A ) mERAIAD o | A 0 Bans Fi 0
RRSTSHKIEES BRI A 7
(5BEKICDDBED) m 0 I aspe EIPTE i 0
| e | A 0 BERAN | A 0
SREEEHIKEER T T -
E 8 9 @ BEFAKEER | 0 BiREE B 90 0
SR m 540,355 ) mEMKAD | A 0 e iR 5
B TokE% | MEEE TR KR AETE NEE - TRAE
Bis b 3,398,545 (55%7:73\0\%50)? i 0 SHERSW A 16
) AT iRt 270 ) REHKND o | A 0 BRI it 9
&P S HEKEER KR EEE YNES:
s 2t T 0 TP RSN | i 0 SEBSH | A 20
sE%E RINIIT nt 951,427 mEBRAD | A 0 Gl i 4
mia INRIEE S BEIK IR B = NERE
20t i 0 REKRKEER | 0 SEBSS | A 23
e == F 127 D35+ - SV HMEAD A 0 e i (5 1
EBS | sppepe = F 70 SHMEBLELEAD A poor| | SR sEEEM | A 5
EBiER (FhEys) m 372 _|ThETMIIAESR BT (03] 8 EliE: AT 3
RE | B
MWBIER (FhEIA) m 0 BE — B EIBHES IR | BEPTE ED 0.0 SIHEH A 6
IMEAD A 1,316 o o | POETRITIFEER BRI | e 0 B i 0
?E/g ?1—: Tryr =
LR ZIEMEER N — [z F3RE% 5
FEEZYIL FRIBINES kI 10,390 — BB HAS IR | EPTE AT 0.0 SEBSH A 0
§l'h = oM - = M .
E2ieE nEAD A 192,951 s | DEVRIIHESR B | 0 o GRE B 2
) = FFBKIF
FRIRINES ¢ 55,273 Toh | _mmmmsTen M | w6 0.0 SEWEN | A 0
HETATE A 0 = gy | FRIEE | DETRITTHER BT 0 0 & T 4
ESKE e BA —— T—U
[ P —WEHESE | A 0 =4 | —EERES IS | BT 57 0.2 SEHER A 8
S e HEAE A 25 sraps | DETRIIIHEER B | 0 REREYS—  |EFM i I
H 4O HESN — - _
BUEIESE | _wmmmse| o 0 b _memmates B |G 0.0 =rns B g |
BIEHKAD | A 11145 | (o | EENSR | RTASIHEE B | 0 BROR SEBES | A 6
SHEH KB | nf 28,610,000 B | oirmmg | mEAI e e S 0 _ B P &
— - - EAER
RIEPKEISEE | nf 18,451,500 = 9ME | mE IS e {5 0 SEETE nf 7,180
== e - —
SHEERIMBIR | T 0 Wi |Cieg | PEIRIINERR B | 0 THy G | o 1,848,732
et TEEAE
TrkEs| AHTKE IERFIERS | it 0 2y EE® | o 359,704
B
HENEREESE | nf 28,610,000 Ty (7 | o 105,858
TEE
IRENIEXIGEE | nf 18,451,500 Bt Emi&) n 6,052
BEMEREAAD | A 177,145 THERRRES ot 12,033
B2E
BIEKGETRERAD | A 175,101 ZOMORE ot 0




